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Quithwpwdhtu 7

Qudwu wnwplw § hwunhuwund" Uunwnph uyhpun
<pwybiph <pwybiph
wwhwugubkphu wwhwugubtphu
Uwutwlygh
hwiwwywwwufuwunn | shwdwywunwuppwunn | Luhwiwwywwnwufuwunyejui
</€ wujwuntdp
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwywwnwufuwubnt | /shwdwwwunwuluwubing
nGwpnud gk “X”/ nbwpnud uob “X”/
1 Le3un ume X
Cunpjwéd
Uwutiwlhgubph Huubwbhg | ligh wnwowplws
Uwutwygh /punpwd
qpwnbgpwé ght wnwug UUL-h
nbnb wuyjwunudp dwutwlygh / hus wi/
ntupp hwdwp ok q. nn
“X?)/
1 Le3un uMne X 600
Quthwpwdhu 8
Yudwu wnwplw £ hwunhuwund' Pdoulwu dbnung
<pwybph <pwybph
wwhwugubkphu wwhwugubtpht
Uwutiwygh hwdw u
wwwwufuwuny | shwiwwywunwufuwuny | LWuhwdwywwnwufuwunipjwu
</< wuyjwunidp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypniLu
/hwdwwywwnwufuwubnt | /shwdwwwnwuluwubine
nGwpnud gk “X”/ nbwpnud ok “X”/
Lk3un ume X
Cunpjwé
Uwutwyhgubph Huutiwlhg Uwutiwlygh wnwowpyws
Uwutiwlgh /punpyuid
qpwnbgpwé qht wnwug UUL-h
nbnkb wuyjwundp dwutiwlygh / huw i/
nepp hwdwp ok q. np
“X”/
1 Lt3un ume X 19600




Quthwpwdhu 9

Qudwu wnwplw § hwunhuwund' Phnwwnhu

<pwybiph <pwybiph
wwhwugubkphu wwhwugubtpht
Uwutwlygh
hwdwwywwwupwunn | shwdwywwnwuluwung | Wuhwdiwwywunwufuwunipyui
</< wujwunidp
hwjinbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwwwwufuwubnt | /shwdwwwnwufuwubn
nGwpnud gk “X”/ nbwpnud ok “X”/
1 Le3un ume X
Cunpjwéd
Uwutiwlhgubph duubwbhg | iligh wnwowplws
Uwutwlgh /punpqwd
qpwnbgpwé ght wnwug UUL-h
nbnk wuyjwunudp dwutwlgh /h 8/
nepp hwdwp ok wq. npw
“X?)/
1 L63un ume X 4240
Quithwpwdhu 10
Qudwu wnwplw § hwunhuwund' phun
<pwybiph <pwybiph
wwhwugubkphu wwhwugubtpht
Uwutiwygh hwdw u
wwwwufuwuny | shwiwwywunwufuwuny | LWuhwdwywwnwufuwunipjwu
</< wuyjwuntdp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwwnwuluwubine
nGwpnud ugkip “X”/ nbwpnud ok “X”/
1 L63un ume X
Cunpjwé
Uwutwyhgubph Juuliwbhg Uwutiwlygh wnwowpyws
Uwutiwlgh /punpqwd
qpwnbgpwé qht wnwug UUL-h
nbnk wuyjwundp dwutiwlygh / hw wil/
ntepp hwdwp tgh q. np
“XY)/
1 Lt3un uMe X 4725




Quithwpwdhu 11

Qudwu wnwplw § hwunhuwund' phun

<pwybiph <pwybiph
wwhwugubkphu wwhwugubtpht
Uwutwlygh
hwdwwywwwupwunn | shwdwywwnwuluwung | Wuhwdiwwywunwufuwunipyui
</< wujwunidp
hwjinbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwwwwufuwubnt | /shwdwwwnwufuwubn
nGwpnud gk “X”/ nbwpnud ok “X”/
1 Le3un ume X
Cunpjwéd
Uwutiwlhgubph duubwbhg | iligh wnwowplws
Uwutwlgh /punpqwd
qpwnbgpwé ght wnwug UUL-h
nbnk wuyjwunudp dwutwlgh /h 8/
nepp hwdwp ok wq. npw
“X?)/
1 L63un ume X 1836
Quthwpwdh 12
Qudwu wnwplw § hwunhuwund' puwdpwy
<pwybiph <pwybiph
wwhwugubkphu wwhwugubtpht
Uwutwygh hwdw
wwwwufuwuny | shwiwwywunwufuwuny | LWuhwdwywwnwufuwunipjwu
</< wuyjwuntdp
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwwnwuluwubine
nGwpnud gk “X”/ nbwpnud ok “X”/
L63un ume X
Cunpjwéd
Uwutwyhgubph Juuliwbhg Uwutiwlygh wnwowpyws
Uwutiwlgh /punpqwd
qpwnbtgnpwé ght wnwug UUL-h
nbnk wuyjwundp dwutiwlygh / hw Wi/
ntepp hwdwp ok q. np
“XY)/
1 Lt3un ume X 1900




Quithwpwdhu 19

Qudwu wnwplw § hwunhuwund' nhwpwl whunwhwuhs

<pwybiph <pwybiph
wwhwugubkphu wwhwugubtpht
Uwutwlygh
hwdwwywwwupwunn | shwdwywwnwuluwung | Wuhwdiwwywunwufuwunipyui
</< wujwunidp
hwjinbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwwwwufuwubnt | /shwdwwwnwufuwubn
nGwpnud gk “X”/ nbwpnud ok “X”/
1 Le3un ume X
Cunpjwéd
Uwutiwlhgubph duubwbhg | iligh wnwowplws
Uwutwlgh /punpqwd
qpwnbgpwé ght wnwug UUL-h
nbnk wuyjwunudp dwutwlgh /h 8/
nepp hwdwp ok wq. npw
“X?)/
1 L63un ume X 17000
Quithwpwdhu 31
Qudwu wnwplw § hwunhuwund' Snn
<pwybiph <pwybph
wwhwugubkphu wwhwugubphu
Uwutiwygh hwdw u
wwwwufuwuny | shwiwwywunwufuwuny | LWuhwdwywwnwufuwunipjwu
</< wujwuntdp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwywwnwufuwubnt | /shwdwwwunwuluwubing
nGwpnud ugkip “X”/ nbwpnud ok “X”/
1 L63un ume X
Cunpjwé
Uwutwyhgubph Huutiwlhg Uwutiwlygh wnwowpyws
Uwutiwlgh /punpyuid
qpwnbgpwé qht wnwug UUL-h
nbnkb wuyjwundp dwutiwlygh / huw i/
nepp hwdwp ok q. np
HXH/
1 Lt3un ume X 2940
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Qudwu wnwplw b hwunhuwund' ubpwplhs

<pwytph <pwytph
wwhwugubkphu wwhwugubtphu
Uwutwygh
hwiwywwwupwunn | shwiwywwnwuluwung | Wuhwiwywunwufuwunipyui
</< wujwunidp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwuluwubine
nGwpnud gk “X”/ nbwpnud uob “X”/
1 Le3un ume X
Cunpjws
Uwutiwlhgubph Huubwbhg | ligh wnwowplws
Uwutwygh /punpywd
qpwnbtgnpwé qht wnwug UUL-h
nbnb wuyjwunudp dwutwygh / hus Wi/
nspp hwdwp ok q. np
“x"/
1 L63un uMe X 1265
Quthwpwdhu 34
Qudwu wnwplw § hwunhuwund" ubpwpyhy
<pwytph <pwytph
wwhwugubkphu wwhwugubtpht
Uwutiwygh
hwdwywwwupwunn | shwiwywwnwuluwung | Luhwdwwywnwufuwunieyut
</< wuyjwuntdp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwwnwuluwubine
nGwpnud gk “X”/ nbwpnud ok “X”/
1 L63un uMe X
Cunpjwsé
Uwutiwyhgubph duuliwbhg Uwutwlygh wnwowpyws
Uwutiwygh /punpqwd
qpwnbgpwé qht wnwug UUL-h
nbnk wuyjwundp dwutiwlygh / hw wil/
nspp hwdwp tgh q. np
“XY)/
1 Lt3un uMe X 1265




Quithwpwdhu 35

Qudwu wnwplw E hwunhuwund'ubpwnpyhs

<pwybiph <pwybiph
wwhwugubkphu wwhwugubtpht
Uwutwygh hwdw u
wwwnwufuwuny | shwiwwywunwufuwung | Lnhwdwywwnwupuwunipjwu
</< wujwunidp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwwwwufuwubnt | /shwdwwwnwufuwubn
ntwpnd ugk| “X”/ nGwpnid uok “X”/
1 Le3un ume X
Cunpjws
Uwutwlyhgubph duuliwbhg Vwutwlygh wnwowplyws
Uwutiwygh /puinpywd
qpwnbtgnpwé qht wnwug UUL-h
nbnk wuyjwunidp dwutwygh / hu wil/
nepp hwdwi tgh q. np
“X?)/
1 L63un ume X 1260
Quithwpwdhu 43
Qudwu wnwplw § hwunhuwund' opwduh wbpnpuhn
<pwybiph <pwybiph
wwhwugubkphu wwhwugubphu
Uwutwygh
hwiwwywwwufuwunn | shwdwywunwuppwunn | Luhwiwwywwnwujuwunyejuu
</< wuyjwuntdp
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwywwnwufuwubnt | /shwdwwwunwuluwubing
nGwpnud gk “X”/ nbwpnud ugb “X”/
1 Le3un ume X
Cunpjwéd
Uwutiwlhgutph Suubwbhg | iigh wnwowplws
U wutwlgh /puinpqwd
qpwnbtgpwé qht wnwug UUL-h
nbnk wuyjwunudp dwutwygh /h &/
ntepp hwdwp ok wq. npw
“XY)/
1 Lt3un ume X 1547




Quithwpwdhu 44

Qudwu wnwplw § hwunhuwund 'Renwy

<pwybiph <pwybiph
wwhwugubkphu wwhwugubtpht
Uwutwlygh
hwiwywwwupwunn | shwiwywwnwuluwung | Luhwdiwywnwufuwunieyut
</< wujwunidp
hwjinbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwwwwufuwubnt | /shwdwwwnwufuwubn
ntwpnd ugk| “X”/ nGwpnid uok “X”/
1 Le3un ume X
Cunpjwé
Uwutwlhgubph Huuliwbhg Uwutiwygh wnwowpyws
Uwutiwygh /puinpywd
qpwnbgpwé ght wnwug UUL-h
knb wuyjwunidp dwutwygh / hus wii/
wnGntpp hwdwp ok q. np
“X?)/
1 L63un ume X 3600
Quthwpwdhu 48
Qudwu wnwplw § hwunhuwund' Uybnwup
<pwybiph <pwybiph
wwhwugubkphu wwhwugubtpht
Uwutiwygh
hwdwywwwupwunn | shwiwywwnwuluwung | Luhwdwwywnwufuwunieyut
</< wuyjwuntdp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwwnwuluwubine
nGwpnud ugkip “X”/ nbwpnud ok “X”/
Lk3un yume X
Cunpjwé
Uwutwyhgubph Juuliwbhg Uwutiwlygh wnwowpyws
Uwutiwlgh /punpqwd
qpwnbgpwé qht wnwug UUL-h
nbnk wuyjwundp dwutiwlygh / hw wil/
ntepp hwdwp tgh q. np
“XY)/
1 Lt3un uMe X 10560




Quthwpwdhu 49

Qudwu wnwplw § hwunhuwund' Yusniu uybinwup

<pwybiph <pwybiph
wwhwugubkphu wwhwugubtphu
Uwutwlygh
hwdwwywwwupwunn | shwdwywwnwuluwung | Wuhwdiwwywunwufuwunipyui
</< wujwunidp
hwjinbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwuluwubine
nGwpnud gk “X”/ nbwpnud ok “X”/
1 Le3un ume X
Cunpjwéd
Uwutiwlhgubph Huubwbhg | ligh wnwowplws
Uwutwygh /punpywd
qpwnbgpwé ght wnwug UUL-h
nbnb wuyjwunudp dwutwlygh / hus wi/
ntupp hwdwp ok q. nn
“X?)/
1 Lt3un ume X 6000
Quithwpwdhu 51
Qudwu wnwplw § hwunhuwund' Pdolwlwu uyhpn
<pwybiph <pwybiph
wwhwugubkphu wwhwugubtpht
Uwutwygh hwdw
wwwwufuwuny | shwiwwywunwufuwuny | LWuhwdwywwnwufuwunipjwu
</< wuyjwuntdp
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwwnwuluwubine
nGwpnud gk “X”/ nbwpnud ok “X”/
1 L63un uUme X
Cunpjwéd
Uwutwyhgubph Juuliwbhg Uwutiwlygh wnwowpyws
Uwutiwlgh /punpqwd
qpwnbtgpwé ght wnwug UUL-h
nbnk wuyjwundp dwutiwlygh / hw Wi/
ntepp hwdwp ok q. np
“XY)/
1 Lt3un ume X 11500




Quthwpwdhu 52

Qudwu wnwplw § hwunhuwund' hinfutbpwplydwu hwdwwpg

<pwybiph <pwybiph
wwhwugubkphu wwhwugubtphu
Uwutwlygh
hwdwwywwwupwunn | shwdwywwnwuluwung | Wuhwdiwwywunwufuwunipyui
</< wujwunidp
hwjinbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwuluwubine
nGwpnud gk “X”/ nbwpnud ok “X”/
1 Le3un ume X
Cunpjwéd
Uwutiwlhgubph duubwbhg | iligh wnwowplws
Uwutwlgh /punpqwd
qpwnbgpwé ght wnwug UUL-h
nbnk wuyjwunudp dwutwlgh /h 8/
nepp hwdwp ok wq. npw
“X?)/
1 Le3un uMne X 1475
Quthwpwdhu 63
Qudwu wnwplw § hwunhuwund" widwnbq pinp
<pwybiph <pwybiph
wwhwugubkphu wwhwugubtpht
Uwutwygh hwdw
wwwwufuwunn | shwdwywunwuppwunn | Luhwiwwywwnwujuwunyejuu
</< wuyjwuntdp
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwwnwuluwubine
nbwpnud gk “X”/ nbwpnud gk “X”/
1 Le3un ume X
Cunpjwéd
Uwutwyhgubph Juuliwbhg Uwutiwlygh wnwowpyws
Uwutiwlgh /punpqwd
qpwnbtgpwé ght wnwug UUL-h
nbnb wuyjwundp dwutwlgh / huw Wi/
ntepp hwdwp ok q. np
“XY)/
1 Lt3un uMe X 6000




Quthwpwdhu 65

Qudwu wnwplw § hwunhuwund' phun

<pwybiph <pwybiph
wwhwugubkphu wwhwugubtphu
Uwutwlygh
hwdwwywwwupwunn | shwdwywwnwuluwung | Wuhwdiwwywunwufuwunipyui
</< wujwunidp
hwjinbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwuluwubine
nGwpnud gk “X”/ nbwpnud ok “X”/
1 Le3un ume X
Cunpjwéd
Uwutiwlhgubph duubwbhg | iligh wnwowplws
Uwutwlgh /punpqwd
qpwnbgpwé ght wnwug UUL-h
nbnk wuyjwunudp dwutwlgh /h 8/
nepp hwdwp ok wq. npw
“X?)/
1 Lt3un ume X 2200
Quthwpwdhu 66
Yudwu wnwplw b hwunhuwund' (Fwughdb wudbinpghy
<pwybiph <pwybiph
wwhwugubkphu wwhwugubtpht
Uwutwygh
hwiwwywwwufuwunn | shwdwywunwuppwunn | Luhwiwwywwnwujuwunyejuu
</< wuyjwuntdp
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwwnwuluwubine
nbwpnud gk “X”/ nbwpnud uob “X”/
1 L63un UMe X
Cunpjwéd
Uwutiwlhgutph Swubwbhg | iligh wnwowplws
Uwutwlgh /puinpqwd
qpwnbtgpwé ght wnwug UUL-h
nbnk wuyjwunidp dwutwygh /h &/
ntepp hwdwp ok wq. npw
“XY)/
1 L63un ume X 938.5
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Quithwpwdhu 67

Yudwu wnwplw £ hwunhuwund' |GYnywuwn Yunnpb hhdpny

<pwybiph <pwybiph
wwhwugubkphu wwhwugubtpht
Uwutwlygh
hwdwwywwwupwunn | shwdwywwnwuluwung | Wuhwdiwwywunwufuwunipyui
</< wujwunidp
hwjinbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwwwwufuwubnt | /shwdwwwnwufuwubn
nGwpnud gk “X”/ nbwpnud ok “X”/
1 Le3un ume X
Cunpjwéd
Uwutiwlhgubph duubwbhg | iligh wnwowplws
Uwutwlgh /punpqwd
qpwnbgpwé ght wnwug UUL-h
nbnk wuyjwunudp dwutwlgh /h 8/
nepp hwdwp ok wq. npw
“X?)/
1 L63un ume X 504.25
Quthwpwdhu 68
Qudwu wnwplw § hwunhuwund' pneb uwdwu
<pwybiph <pwybph
wwhwugubkphu wwhwugubphu
Uwutiwygh hwdw u
wwwwufuwuny | shwiwwywunwufuwuny | LWuhwdwywwnwufuwunipjwu
</< wujwuntdp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwywwnwufuwubnt | /shwdwwwunwuluwubing
nGwpnud ugkip “X”/ nbwpnud ok “X”/
1 L63un ume X
Cunpjwé
Uwutwyhgubph Huutiwlhg Uwutiwlygh wnwowpyws
Uwutiwlgh /punpyuid
qpwnbgpwé qht wnwug UUL-h
nbnkb wuyjwundp dwutiwlygh / huw i/
nepp hwdwp ok q. np
HXH/
1 Lt3un ume X 7200
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Quithwpwdhu 76

Qudwu wnwplw b hwunhuwund' REpdwswih uunhlwjhu

<pwybiph <pwybiph
wwhwugubkphu wwhwugubtpht
Uwutwlygh hwiw
wwwwufuwuny | shwiwwywunwufuwiung | Wuhwdwywwnwufuwunipjwu
</< wujwunidp
hwjinbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwwwwufuwubnt | /shwdwwwnwufuwubn
ntwpnd uok “X”/ nbGwpnid ugk| “X”/
1 L63un ume X 12000
Cunpjwéd
Uwutwlhgubph Huuliwbhg Uwutiwygh wnwowpyws
Uwutiwygh /puinpywd
qpwnbgpwé ght wnwug UUL-h
nbnb wuyjwunidp dwutwlgh /h 8/
nepp hwdwp ok wq. npw
“X?)/
1 L63un ume X
Quithwpwdhu 80
Yudwu wnwplw b hwunhuwund'UJwnndbpbuwih nbnwwnnup
<pwybiph <pwybiph
wwhwugubkphu wwhwugubtpht
Uwutwygh
hwiwwywwwufuwunn | shwdwywunwuppwunn | Luhwiwwywwnwujuwunyejuu
</< wujwuntdp
hwjwnbp hwjwnbp hwdwnnun ujwpugpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwuluwubing
nbwpnud gk “X”/ nbwpnud uob “X”/
1 L63un UMe X
Cunpjwéd
Uwutiwlhgutph Swubwbhg | iligh wnwowplws
Uwutwlgh /puinpqwd
qpwnbtgpwé ght wnwug UUL-h
nbnk wuyjwunidp dwutwygh /h &/
ntepp hwdwp ok wq. npw
HXH/
1 Lt3un ume X 11400
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Quthwpwdhu 82

Qudwu wnwplw § hwunhuwunu® wpjwt dupdwt swihdwu uwpp

<pwybph <pwybph
wwhwugubkphu wwhwugubtphu
Uwutwygh
hwdwwywwwupwunn | shwdwywwnwuluwung | Wuhwdiwwywunwufuwunipyui
</< wujwunidp
hwjwnbp hwjwnbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwuluwubine
nGwpnud gk “X”/ nbwpnud ok “X”/
1 L63un ume X
Cunpjws
Uwutiwlhgubph Huubwbhg | ligh wnwowplws
Uwutwygh /punpwd
qpwnbtgnpwé qht wnwug UUL-h
nbnb wuyjwunudp dwutwlygh / hus Wi/
ntupp hwdwip ok q. nn
“x"/
1 Lt3un ume X 63000
Quthwpwdhu 83
Qudwu wnwplw § hwunhuwund' £ 9pdwswih
<pwybiph <pwybiph
wwhwugubkphu wwhwugubtpht
Uwutwygh
hwiwwywwwufuwunn | shwdwywunwuppwunn | Luhwiwwywwnwujuwunyejuu
</< wujwuntdp
hwjwnbp hwjwnbp hwdwnnun ujwpugpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwuluwubing
nbwpnud gk “X”/ nbwpnud uob “X”/
1 L63un UMe X
Cunpjwéd
Uwutiwlhgutph Swubwbhg | iligh wnwowplws
Uwutwlgh /puinpqwd
qpwnbtgpwé ght wnwug UUL-h
nbnk wuyjwunidp dwutwygh /h &/
ntepp hwdwp ok wq. npw
HXH/
1 L63un ume X 1600
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Qudwu wnwplw b hwunhuwund'hweniyewihtu Jhpwlwy

<pwybiph <pwybiph
wwhwugubkphu wwhwugubtphu
Uwutwlygh
hwdwwywwwupwunn | shwdwywwnwuluwung | Wuhwdiwwywunwufuwunipyui
</< wujwunidp
hwjinbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwywwnwufuwubnt | /shwdwwwnwuluwubine
nGwpnud gk “X”/ nbwpnud ok “X”/
1 Le3un ume X
Cunpjwéd
Uwutiwlhgubph duubwbhg | iligh wnwowplws
Uwutwlgh /punpqwd
qpwnbgpwé ght wnwug UUL-h
nbnk wuyjwunudp dwutwlgh /h 8/
nepp hwdwp ok wq. npw
“X?)/
1 Lt3un ume X 2200
Quwthwpwdhu 88
Yudwu wnwplw b hwunhuwund' hwenyewiht Jhpwlwy dhohu
<pwybiph <pwybiph
wwhwugubkphu wwhwugubtpht
Uwutwygh hwdw
wwwwufuwunn | shwdwywunwuppwunn | Luhwiwwywwnwujuwunyejuu
</< wuyjwuntdp
hwjwnbp hwjwnbp hwdwnnun uuwpugpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwwnwuluwubine
nbwpnud gk “X”/ nbwpnud ok “X”/
1 L63un UMe X
Cunpjwéd
Uwutwyhgubph Juuliwbhg Uwutiwlygh wnwowpyws
Uwutiwlgh /punpqwd
qpwnbtgpwé ght wnwug UUL-h
nbnb wuyjwundp dwutwlgh / huw Wi/
ntepp hwdwp ok q. np
“XY)/
1 Lt3un ume X 2700
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Quthwpwdhu 89

Yudwtu wnwplw b hwunhuwund' hwpenewiht Jhpwlhwy J6s

<pwybiph <pwybiph
wwhwugubkphu wwhwugubtpht
Uwutwlygh
hwdwwywwwupwunn | shwdwywwnwuluwung | Uuhwdiwywunwufuwunipywu
</< wujwunidp
hwjinbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwwwwufuwubnt | /shwdwwwnwufuwubn
ntwpnd uok “X”/ nbGwpnid ugk| “X”/
1 Le3un ume X
Cunpjwéd
Uwutwlhgubph Huuliwbhg Uwutiwygh wnwowpyws
Uwutiwygh /puinpywd
qpwnbgpwé ght wnwug UUL-h
bnb wuyjwunidp dwutwlgh / hw Wi/
wnGntpp hwdwp ok q. np
“X?)/
1 L63un ume X 9000
Quthwpwdhu 90
Qudwu wnwplw § hwunhuwund' Yusniu dwwywybu
<pwybiph <pwybiph
wwhwugubkphu wwhwugubtpht
Uwutiwygh
hwdwywwwupwunn | shwiwywwnwuluwung | Luhwdwwywnwufuwunieyut
</< wuyjwuntdp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwwnwuluwubine
nGwpnud ugkip “X”/ nbwpnud ok “X”/
1 L63un ume X
Cunpjwé
Uwutwyhgubph Juuliwbhg Uwutiwlygh wnwowpyws
Uwutiwlgh /punpqwd
qpwnbgpwé qht wnwug UUL-h
nbnk wuyjwundp dwutiwlygh / hw wil/
ntepp hwdwp tgh q. np
“XY)/
1 Lt3un uMe X 2800
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Quithwpwdhu9l

Qudwu wnwplw § hwunhuwund' wnwdqulwu Jhpwuy

<pwybiph <pwybiph
wwhwugubkphu wwhwugubtpht
Uwutwlygh
hwiwywwwupwunn | shwiwywwnwuluwung | Luhwdiwywnwufuwunieyut
</< wujwunidp
hwjinbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwwwwufuwubnt | /shwdwwwnwufuwubn
ntwpnd ugk| “X”/ nGwpnid uok “X”/
1 Le3un ume X
Cunpjwé
Uwutwlhgubph Huuliwbhg Uwutiwygh wnwowpyws
Uwutiwygh /puinpywd
qpwnbgpwé ght wnwug UUL-h
knb wuyjwunidp dwutwygh / hus wii/
wnGntpp hwdwp ok q. np
“X?)/
1 Lt3un umne X 20000
Quthwpwdhu 93
Yudwu wnwplw b hwunhuwund' unbiph| wudkinnghly
<pwybph <pwybph
wwhwugubkphu wwhwugubtpht
Uwutiwygh
hwdwywwwupwunn | shwiwywwnwuluwung | Luhwdwwywnwufuwunieyut
</< wuyjwuntdp
hwjwnbp hwjwnbp hwdwnnun uwpwgpnypeniu
/hwdwwywwnwufuwubnt | /shwdwwwnwuluwubine
nGwpnud ugkip “X”/ nbwpnud ok “X”/
1 L63un ume X
Cunpjwé
Uwutwyhgubph Juuliwbhg Uwutiwlygh wnwowpyws
Uwutiwlgh /punpqwd
qpwnbgpwé qht wnwug UUL-h
nbnk wuyjwundp dwutiwlygh / hw wil/
ntepp hwdwi tgh q. np
HXH/
1 Lt3un uMe X 2000
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Quthwpwdhu 94
Yudwu wnwplw b hwunhuwund' unbiph] wudbnnghly

<pwybiph <pwybiph
wwhwugubkphu wwhwugubtpht
Uwutwlygh
hwdwwywwwupwunn | shwdwywwnwuluwung | Wuhwdiwwywunwufuwunipyui
</< wujwunidp
hwjinbp hwjunbp hwdwnnun ujwpwgpnypniu
/hwdwwwwwufuwubnt | /shwdwwwnwufuwubn
nGwpnud gk “X”/ nbwpnud ok “X”/
1 L63un ume X
Cunpjwéd
Uwutiwlhgubph duubwbhg | iligh wnwowplws
Uwutwlgh /punpqwd
qpwnbgpwé ght wnwug UUL-h
nbnk wuyjwunudp dwutwlgh /h 8/
nepp hwdwp ok wq. npw
“X?)/
1 L63un ume X 1800

Cunpywd Jwutwlyghtu npnbint hwdwp Yppwndwsd swipwup?' pwdwpwp quwhwndwsd hwn b
w|wlwht quhg guidp quwjht wnwewnlyp:

“Qunuiubiph Jwupt” << opbkuph 10-pp hnnjwéh hwiwdwyt' wugnpénipjuu dwdlbn  sh
uwhdwuynud:

Unyu hwjwnwpwpnipjwt htin uwywd (pugnighs ibintynieniututip unwuwint hwdwp Yuwpnn Gp nhdt;
LNMSLUU-UMAR-23/PM -1 dwdlwagpny quwhwwnnn hwuduwdnnnyh pwpuiniup
Unpwyp Ywpnwujwupt:
<bnwfunu' 593-483:
ElGynunpwuwihtu thnun' gnumner.asue@mail.ru:

Muwwnyhpwwnnt' <<Cwjwunwuh yhnwlwlu nunbuwghnwlywu hwdwuwpwu>> MNUY
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